                           						
	I. COSTS

Assume you have a fixed amount of pasture.  The table below shows the relationship between the number of cows run on the pasture and the amount of beef produced.  Complete the table using the following information:  Total fixed costs = $20,000, variable cost of $180 per cow, and a beef price of $90.00 per cwt.
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For questions 1 – 3 assume you do not own the pasture but are only making a study to determine if you could make a profit if you should purchase it.

1.	Are you in the short run or long run with respect to the pasture?

                                                  					Ans. ____ _____________                     

2.	What is the lowest beef price which would make purchasing the pasture and producing beef a breakeven deal?  (i.e., the price would have to be higher than this value before you would have a profit.)

                                                  					Ans.___ ______________                      


a)	How many cows would you want at this price?

                                                  					Ans.___ _______________                      

	b)	What would your profit or loss be?

                                                  					Ans.______ ______________                      


3.	Assuming a $90.00 beef price as given, would you purchase the pasture to raise beef?  WHY?




For the remaining questions, assume you already own the pasture.

4.	Are you in the short run or long run with respect to the pasture?

                                                  					Ans____ _______                     

5.	At the beef price of $90.00 what is the optimum number of cows and what would your profit or loss be at this number and price?
                                           					Ans.                 	Cows

								Ans.       ______Profit

6.	If the price of beef was $98.00 what is the optimum number of cows and the profit or loss at that number and price?
                                           					Ans.                    	Cows

								Ans.      ______Profit






7.	If the price of beef was $60.00 what is the optimum number of cows and the profit or loss at that number and price?
                                           					Ans.                   	Cows

								Ans.        ______Loss     



8.	If the price of beef was $45.00 what is the optimum number of cows and the profit or loss at that number and price?

                                           					Ans.                    	Cows

								Ans.     ________________Loss     


9.	At some point the price of beef could be so low that you would be better off with no cows and leaving the pasture idle.  This would happen whenever the price of beef was below what value?

                                                  					Ans.      _____________	


10.	The price of beef would have to be at least $      __    _____ to make 225 the optimum number of cows.




11.	Assume a beef price of $92.50 and an offer from a neighbor to rent your pasture for $25,000 per year.  As a profit maximizer, what should you do?  Rent out your pasture or raise beef?  Carefully explain your reason(s).



II.  Mr. I.M Farmer has been producing 500 acres of irrigated cotton in the Texas High Plains.  He is very concerned about increasing fuel costs because he uses a lot of fuel to pump irrigation water.  He is also concerned because he believes that the price of cotton could drop to 58 cents per pound. He is not sure that he can profitably produce cotton if the price falls to 58 cents or less.

Assume you have been asked to analyze this problem.  With the help of an extension agent, you developed the following cost schedule for irrigated cotton at various levels of production.  All costs were figured on a per acre basis.  Fixed costs are $110 per acre.  Total variable costs per acre are listed in the chart below.

Mr. Farmer has asked you to compute the profit maximizing level of production and the amount of profit he can expect at various cotton prices.  He particularly wants advice about whether or not he should produce any cotton at all if the price drops to 58 cents per pound.  (Assume I. M. Farmer has no alternative to cotton; that is he either produces cotton or nothing.) 




1.  What is the most profitable cotton yield if the price is 80 cents per pound?  What is the profit or loss per acre?

                                        Yield_________________________________

                                  Profit/Loss_________ _______________

2.  a) If the price does fall to 58 cents per pound, should Mr. Farmer produce any cotton?

                                                  (  )  Yes      (  )  No

If yes, profit maximizing yield per acre___________________

        Profit/loss per acre______ ______

    b) How much would Mr. Farmer lose if he did not produce any cotton some year?                                                  

                                    Loss per acre_____________________

3.  If the expected price is only 40 cents per pound, should Mr. Farmer try to produce anything?

                                                  (   )  Yes      (  )  No

If he does produce, how much?  ______ ___________lbs per acre.

     	What would Profit/Loss be if he produces?  __ ________(per acre)

 
4.  What is the lowest price that Mr. Farmer can receive and just cover all his costs?  At what yield?

                                              Price_________ _________________

                                              Yield_________ ___________________

             	                      Profit/Loss_____ ____________(per acre)


5.  At what price will Mr. Farmer stop producing?  ____ ___________

III. Calculating Ownership Costs
Happy Harvesters, Inc. owns a large combine.  They know how much their costs are for fuel, repairs and labor, but they need help calculating their current ownership costs, so they can tell if the custom rates they charge for combining are high enough.  Here are their facts:

Estimated current value of the combine and harvesting heads: 			$120,000
Estimated salvage value in 5 years							$  60,000
Cost of capital: 80% borrowed at 7.5%, 20% equity (5% opportunity cost)	____ __%

Insurance and taxes: 0.5% of current value

__________________________________________________________________________
What would be their average ownership costs per year over the 5 years they expect to own the combine? (first find the average value of the combine over the 5 years)

Depreciation:										$_ _______

Average Value:									$__ __________

Interest:										$_ _________

Taxes and insurance:								$_ ________

Total
											$_ _______
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